Determinants - Class XII

Related Questions with Solutions

Questions
Quetion: 01
r r’ 2 N
3
IfD, = n I ) 2n ,then D, =
(2+1) (n@;n) 2(n+ 1) =0
A.n
B. 2n
C.1
D.0
Quetion: 02
sin(A+ B+ C) sinB cosC
If A+ B+ C = 7, then value of —sin B 0 tan A |is

cos(A+B) —tanA 0

A.0

B.1

C. 2 sinA tanA cosC
D. 2 sinA sinBsinC

Quetion: 03

2z r—1 xz+1
far* +br® +cx® +dv+e=|2+1 22 —2 2 —1 |, thenthevalueofe,is
r—1 z+1 3z

N

oowp
N W

Quetion: 04

If A(x1,91), B (x2,y2)and C (x3,ys) are the vertices of an equilateral triangle
2
X1 y1 2

whose each side is equal to a, then| x5 yy 2 | isequalto
X3 y3 2

A. 952
B. 954
C. 352
D. 354

Quetion: 05

Three distinct points P (3112, 2113) 8 (3V2, 2V3) and R (3w2, 2w3) are collinear then
uv + vw + wu =

oo w»
wr Lo

Solutions

Solution: 01




Zr:r Zr:r3 i:E n(nz_ ) E.‘w\iz 2(n+ 1)
. = r=0 r=0 \ A
0= n n* n |=| n n* n |=0
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T s R
sin sinB cosC
A = —sinB 0 tan A
cos(m—C) —tanA 0
0 sinB  cosC
A=| —sinB 0 tan A | = (0 [Skew symmetric determinant of odd order]
—cosC —tanA 0
Putting z = 0, we have
0 -1 1 0 0 1
1 0 —-1|=|1 -1 —1]| [Cy— Cy+Cs]
-1 1 0 -1 1 0
=1-1=0

Step | : Find the area of triangle using determinant
Let area of AABC be A

1 oy 1
Then, A == | 25 yo 1
2
r3 ys 1
1 Y 1 1 Y1 2
=20 = |2y Yo 1 |=4A=| 20 ys 2
x3 yz 1 r3 Yz 2

Step Il : Fi\rm/@the area of equilateral triangle whose side is a
3 9

A=
=  4A = /342
= 16A? = 3at
2
T Yy 2
Ty Yo 2| =3a’
r3 Yz 2
3u 2ud 1

302 2% 1]=0
3w? 2uw? 1
R1 — Rl — R2 and R23—> RQ — Rg

-2 =0 0 ut+v vr+ovi+ou 0
=P —w? vP—w? 0]|=0=|v+w V*+wi+ow 0|=0

w? w? 1 w? w? 1
R1%R1—R2

u—w (U —w*)+vlu—w) 0 1 ut+w+v 0
= | v+w 02+ w? +ow 0]l=0 =|v+w V*+w?+ovw 0

w? w? 1 w? w? 1

= (V4w +vw) — (v+w)|[(v+w)+u =0
= 2+ w? +ow = (v+w): 4+ u(v + w)
= uv + vw + wu = 0 Ans.

=0



Correct Options

Answer:01

Correct Options:

Answer:02

Correct Options:

Answer:03

Correct Options:

Answer:04

Correct Options:

Answer:05

Correct Options:
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